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/\Question 1-p? —35p+124 =0

Po (£31 51 ) 9(20#5 0 g2 4219—130 =0

30

P>9
P<q. (i) p>c
(i) p<oc
(i) p >0
(Iv) p<q
(V) p=qorrelation can’t

be established,




Question 2- 2p% — 3p — 44 = 0
O, (+1L 8 ) - (sHy D

() p>c
P>q - (i) p<o
P<1Q (iii)) p >c
(Iv) p<q

&M p=gqorrelation can’t

be established,




Question 3- p% + 24p + 140 = 0

)\o@wﬂ q? + 8 — 48 = 0

30 P<cz
P> (i) p>c
b (i) p<oao
(i) p >c
(Iv) p<q
()— p=gorrelation can’t

be established,




Question 4-p2 + gp +20=0

Po(=3,71) T2 (HC 1) q° +32q +256 =0
o

3

—P> 9 D p>o
(i) p<oc
(i) p >0
(Iv) p<g
(v) p=qorrelation can’t
be established,




Question 5- When a person of weight 58 kg 1s replaced by a new

person then then average weight of 10 person 1s increased by 2.5 kg.

Find the weight of new person.
@ S 58 TohcdT ST STt ATk Rl Uk AU STk O sed e ST 2 af 10
A Ik o 3G I H 2.5 Toredl il I BidT 21 T ATk AT I JTd
{0 1
$r|i§|Q|
““j/b‘ mouand = -5 X106 B. 73 kg
" = 45K C. 93 kg
jlul Q[Www: 5042s D. 33 kg
E.

— None of these
=§ 3 k}




Question 6- The difference between compound interest and simple
interest on a sum of Rs 9000 for 2 years 1s 810. Find the rate percent

per annum.
T4 5- 2 99 o TeTT 9000 T AT TRT U =Ishalfg, SATST ST AL 4TS o
30 sftr T 31X 810 2| It ¥ ST UfeTd 1 shifsr|
[ 2

0 < (/9 = 9 A. 4%
dT ) = /O 0
I 381\;’)&&) 0 B. 3%
Q/Il _ G ) C ) < C. 9%
CP~J%;A(T§) oc 7—) D. 7%

_ R~So A —E~ None of these

L%ETG =
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Question 7- There are 3 jar of same quantity having the liquid P and
Q nratio 4:11, 7:3, 3:2. What will be the ratio of both liquid if they

mixed 1n another container.

T 6- GHTT {1 o 3 SR & 50 7 P 3R Q 1 UM 4:11, 7:3, 3:2
2l fe  THL sheT H AT & a1 Q1 qiet shT ST T g1

A. 4741
B. 47:44
C. 47:33
—Db7 47:43
E. None of these






Question 7- A shopkeeper says that he is selling sugar at Rs 10/kg which
cost him Rs 12.5/kg. But while selling he 1s giving 800 gram 1nstead of 1
kg. Find his profit percent or loss percent.

Ueh GG ol el & foh g 10 & i fehetim oAl a0 o =i o= w1 e,

30 RSTereht shimd 12.5 393 Ui foretiumy 31 <ifsre s a9 a8 1 fohal bl siig
800 UTH 2 T&T 31 kT AT Terd 3T BT Tfaerd J1d shifsig)
000 ?m - 315
S o
@OO 71‘.,,\ 0
- s X/%‘b _T O A. 10% profit
h#ﬁ{ 35 {—{Q((/) B. 12% profit

—€7 No profit no loss
( P< §P D. 10% loss
E. No profit no loss







The line graph given below shows the % of the number of candidates who

qualified IBPS Po exam out of the total number of candidates who appeared in

different years.
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Question 8- If the number of qualified candidate in 1991 was 7200 then
find total number of candidates appeared in that year.

I 1991 H Ivt SFHIGaRT shl TAT 7200 oY, A1 3T 9Y Iufkerd Irfean sh

CNEICIRICEIIS D]
0207 = 7200
0
)00'/—_7360 o 0% —70%
s )([0(370%
Jp oo 50% /
50% 409 0 /
S Voo 4% A. 26000
o 30%<29%,/ B—36000
"N C. 44000
” D. 46000

1991y 1992 1993 1994 1995 1996 E. None of these
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Question 10- If total number of qualified candidates in 1993 and 1994
1s 26000 and the nu&ber of candidates appeared 1n 1993 was 14000.

— . . sy

Find the number of ca%ﬁéﬁtes in 1994.

T 10- (S 1993 R 1994 H A0l IFHIGART Al et H&AT 26000 & 3R

1993 | IUTXYd IFHISITI shT T&AT 14000 2t 1994 ﬁ\su“lc:q@i 1 9T FTd

L O

ANy 3calel
80% TO%  T0% A. 11000
70% —
” (\5@ // B. 17000
50% 4w C. 13000
40%
. 29%/ D. 19000
20% E. None of these

10%

0%
9 1991 1992 1993 1994 1995 1996







Question 11- If the number of appeared candidates in 1992 was 24000
and the ratio between the male and female qualified candidate was5:3.
Then find number of female qualified.

1992 | Iufterd Iriaamrl sht €T 24000 off ST To ST HigeT ol

SFIEETL 3 sfT=l AT 31U 5: 3 I ?‘ﬁ?_"'g‘l-ll%ﬂl AR I NG AIS I
cd

o

5% 70%  70% A. 3000
70%
. _~_ s5po / B. 2600
50% //‘ 9 0 /

4 C- 3600
40%
e —20%. 2 —" D. 4400
20% /

E. None of these

10%

0%

1991 1992 1993 1994 1995 1996






Ife 1991 37T 1992 H IURY I

Question 12- if the number of candidates appeared in 1991 and 1992 was

6000 and 8000 respectively then find ratio of number of candidates
Ay

qualified in same years.

80%
70%
60%
50%
40%
30%
20%
10%

0%

Tea shl G&AT ShUST: 6000 3T 8000 oft,

A GHT ST H SAT0T SFHTEIT ohl HET 3hT ST HT ohi (5|

409 0/
N4

iy

1991 1992 1993 1994 1995 1996

@ O O

T70%  T0% A 3:8
B.

5:8
1:8

. 78

None of these



(D Kako = 204 o 6poty [ Loy 98990
= {77 e
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Question 13- A sells an article to B at 20% profit. Now B sells it to C at
25% profit for Rs 1080 then find the cost price for A.

T 13- A T I&] B I 20% AT T =T 2l 316 B 36 C I 25% ATH T
1080 &9 ¥ ST 2, Al A 31 363 He 1 hiTor|

30 . (p §P
@ QOZ_—__&) 5 C

D)
457 = | 15
y 5 — A. Rs 1300
\ 50== ol B. Rs 2200
=3¢ C. Rs 4800
2(): SGXQB D. Rs 3600

=3 71% E—None of these







Question 14- A person 1s standing on a platform in how much time 480

meter long train running with speed 72 km/hr cross him.

Ueh fth Toh TIEHTH U @eT & 3T 72 forefiy/erer sht i & =ere aTedt 480 Hiet
sl o7 U fohd 9T U Lt 82

= 1%_5 _ 49

B ———
D —

S

/{L; %6 A. 20 sec
%:C’ZL{ ‘Kﬁ_ B. 14 sec
I C. 33 sec
D. 24 sec
E. None of these







Question 15- In how many ways 4 or more people be

selected from 4 boys and 3 girls.

TF 15- 4 ASHhT I 3 ASHRAT H T 4 IT Tk AN ohl fohdA
Iehl | THT STHT =ATRT?

30
Wy = %Ec [11‘ 7%—(— ¥Cg-l— IC
‘i TX/Z‘ 3 ; A.54
I = _Rrony (X@y5x 44
C j{@ Ay ! /g)(%%};;fﬁ\( + | ]2. 66
X< -

E. None of these







Question 16- Two jar contains milk and water in ratio 5:7
and 8:7 if they are mixed 2:3 then find ratio of milk and

water 1n new mixture.

T 16- &1 STRCH g4 ST AT 5:7 31T 8:7 o 10T 7 €, Ffe 32

10 Q?ﬂ«luldﬁlwlqlwm% dldkﬁ[ﬂWﬁWﬁ'{WW
@ CERICEIGEAISE
A73:77
B. 73:88
C.73:81
D.73:23

E. None of these
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Question 17- The difference between simple interest and
compound interest on a certain sum of money for 2 years at
30% per annum 1s Rs 720. Find the principal.

T4 17- Ton Ffera gafsn ot 2 9w o foefw 30% id oy shi st H
HTET SATST 3T ka5 SATST o st oAl 3T 720 T 2

it =1 gar @)

@ SI Q;f{: Jo+30 \{00*/_—_8@(!00
e A.Rs 7000
“T% < 6 /]3/ T10| XD g
|/ e T _CRs 8000
D.Rs 9000

E. None of these
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